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Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

1.  Which of the following is not associated with Palaeolithic ?
(A) Mongoloid (B) Homo sapiens

(C) Homo sapiens sapiens (D) Homo erectus

2. Which of the following is not associated with Mesolithic ?
(A) Hunting - gathering (B) Domestication of animals

(C) Domestication of plants (D) Horticulture

3. Which of the following is not associated with New Stone age ?
(A) Domestication of plants (B) Iron
(C) Sedentary life (D) Early village settlements

4.  Which of the following is not associated with the first Urbanization ?
(A) Town Planning (B) Citadel
(C) Defence wall (D) Coins

5.  Which of the following is not associated with Megaliths ?
(A) Pastoralism (B) Ash mounds

(C) Iron tools (D) Institutional trade

6.  Match List-I with List-II and choose your answer from the codes given below :

List-I List-II
(a) Uttarapath (i) Pratisthan
(b) Kalinga (i) Taxila
(c) Satavahana (iii) Mahismati
(d) Avanti (iv) Tosali
Code :

(@ (b () (@
(A) @) (@v) @) (i)
(B) @) (@) @v) ()
(© Gv) () @) @)
(D) @) (v) (D) (i)

J—0609 2



sfaema

g9uT —I1
A : WIS # e (50) Ig-fahedia ue ¥ 1 YA U¥ % 2 (2) 3k &1 el el ok I
T
1. fr=fafea § 4 fa w1 gy qu-gmemeea § =18 €2
(A) HIES (B) @ fterd
(C) e Afya=g afee=g (D) el SERd
2. Tr=fafed § @ fra =1 grery Tegumem g0 9 6 § 2
(A) TR & - S (B) T3l ohl TTeTq ST
(C) dreli =l UTer (D) UM faam
3. frefafed # 9 fog o1 gwema e g 9 9 6 8 2
(A) el 1w (B) g
(©) feram™ (D) WRFReR o St
4. Trefafea & § fog =1 g 99 T 9 7= 82
(A) TR A (B) T
(C) Ham Jem (D) fosn
5. freAfafaa § 9 frg o1 g geamm 9§ T €2
(A) =ATE 1% (B) U@ & Il
(C) <iE U (D) HEerE iR
6. GE-1 o1 GElI-I1 § G Iy 3R UeT Hhie | Tal I 1 =97 T
g1 g1l
(a) TWUY () s
(b) wfdn (i) <fomen
(c) HdaTE (iti) AfeEHd!
(d) erafa (iv) qrEret
FiIT
(@ @) (© @
(A) @) (@Gv) @ (i)
(B) (i) (i) (v) ()
Q) (v) () G ()
D) @ (v) (@) (i)
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7. Match List-I with List-II and choose your answer from the codes given below :

List-11
Banabhatta
Chandbardai
Megasthanese
Kalhana

8.  Match List-I with List-II and choose your answer from the codes given below :

List-II
Harshavardhana
Pushyagupta
Chandergupta - II
Pulkeshin - II

9.  Match List-I with List-II and choose your answer from the codes given below :

List-I
(a) Indika
(b) Harshacharita
(c) Prithwiraj Raso
(d) Rajatarangini
Code

(@ M () @
(A) (v) @) @ ()
(B) @@) @) @) (v)
(€ @ @v) @) @0
D) @ @) @v) (i)

List-I
(@) Junagarh Inscription
(b) Iron pillar Inscription
(c) Banskhera Inscription
(d) Aihole Inscription
Code

(@ B (o (@
(A) @@ @) @ (1v)
B @ @@ @) ()
(€ (@) @v) G @0
(D) (v) (@) @) (i)

List-I
(a) Anga
(b) Magadha
() Kosal
(d) Vajji
Code :

(@ b () (@
(A) @@ @ @v) (i)
B) @ ) @G (@v)
(© @) Gv) @ ()
(D) (v) @) @) @

(@)

(i)
(iif)
(iv)

List-1I
Giribraj
Champa
Vaishali

Shravasti



7. G H A A g foerET 3R 4ed SIS % SER W Hel S Hl =TI B

gl

(@ () (o
(A) @) () (@)
B @O G @)
(© (i) (v) (@)
(D) (v) @ (@)

(d)
(iv)
(ii)
)
(

iii)

g1l
() SmHg
(i) TG
(iii)  FTETST
(iv) <hegU

9. gl H LIl § GHA feRT iR USd ®ie & YR W §el ST Sl 997 HiT

!
(a) &
(b) T
(©) HIEA
(d) =t
HIE :

(@ ®) (o
(A) @ @ @)
B @O (D) @)
(© @i () @
(D) (v) (@) (ifi)
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10.

11.

12.

Match List-I with List-II and choose your answer from the codes given below :

List-I List-II
(a) Pallava (i) Praversen
(b) Ikshavaku (i) Ishwardatt
(c)  Abhir (iii) Dhanyakatak
(d) Vakataka (iv) Kanchipuram
Code

(@ B () (@
(A) Gv) (D) @) ()
(B) @) @) @ ()
(© Gv) (@) @) (@)
(D) @) @@ Gv) (i)

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : Second urbanisation in India was caused by the use of iron technology.
Reason (R) : Iron technology was the moving force.
In the context of the above two statements which of the following is correct ?

(A) (A) is true but (R) is untrue

(B) (R) is true but (A) is untrue
(C) Both (A) and (R) are true
(D) Both (A) and (R) are untrue

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : The punch marked coins were inscribed in Brahami Script.
Reason (R) : It facilitated trade.
In context of the above two statements which of the following is correct ?

(A) (A)is true but (R) is false

(B) (R) is true but (A) is false
(C) Both (A) and (R) are true
(D) Both (A) and (R) are false



10.

11.

12.

gl 1 G-Il ¥ gAe foery ik yed e @ W&l IW Al 991 HIT ;

et a1
(a) Tood () TeREA
(b) TP (i) ¥R TA
(c) 4R (ili) o= Hh
(d) @TeRIEeh (iv) hi=TqLH
#HS :

(@ () () @
(A) (v) @) @) @
(B) () @) @ ()
Q) (@v) (@) (@) ()
D) @@ @ (v) (i)

= < e fed w1 @ ¥ 59§ | verm oy S1fureherd (A) 2R TEX FeUF Wi ek (R) Fel TR |
SrfueRed (A):  9RA H fgdia TRIFR &g Toheish o HROT ga |

e (R) : TIE Tehriieh TRl TIfer o |

3 S Al & dedf § erenfafad # 9 9dt ST 1 =9 Fife |

(A) (A) 9@ § = (R) Tod B |

(B) (R) W&l § T (A) T €|

(C) (A) 3R (R) <1 wt ¥ |

(D) (A) 3R (R) SHI T €1

F <t e o3 w1 @ € 59 H 3 vom 1 2ifeRe (A) 3R T UM i 9k (R) FE TR |
fueReT (A) :  Tofaa foaenl R o=l fafu # sifaera 9

ek (R) : 9 9 AT | T ST |

T SHI FeAl o ey W frAfafea # 9 98 W S 939 i

(A) (A) 5 § WY (R) T ¢ |

(B) (R) Wdl & T (A) o < |

(C) (A) 3R (R) T W&t § |

(D) (A) IR (R) ST Terd €1
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13.

14.

15.

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R):

Assertion (A) : Sangam literature is a ‘Sanskrit Kavya'.

Reason (R) : It offers information on the social conditions.

In view of the above two statements which of the following is correct ?
(A) (A)is true but (R) is false

(B) (A) is false but (R) is true

(C) Both (A) and (R) are false

(D) Both (A) and (R) are true

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R):

Assertion (A) : Gupta period witnessed growth of literary writings.
Reason (R) : Overall conditions were conducive to such a development.

In the context of the above two statements which of the following is true ?

(A) (A)is true but (R) is false
(B) (R)is true but (A) is false
(C) Both (A) and (R) are false
(D) Both (A) and (R) are true

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R):

Assertion (A) : Tripartite struggle was the political struggle for the Supremacy of north
India.

Reason (R) : This was essential.

In the context of the above two statements which of the following is correct ?
A) (A) is true but (R) is false

B) (A)is false but (R) is true

C) Both (A) and (R) are false

D) Both (A) and (R) are true



13.

14.

15.

T 1 e fed =1 @ € f59 H | verm o1 SifeRe (A) 3R THR %o &I deh (R) HE T
AR (A) :  HTH WA  Gihd HeA’ B

qh (R): g WIS ST & IR H o1 JSH il |

ST & HeAl & Hed H sreifafed § 3 9t S &1 w2 Hifre

(A) (A) F& T R’ (R) T g |

(B) (A) TeTd © W (R) Wel T

(C) (A) 3R (R) I Terd 1

(D) (A) 3R (R) <1 @&t § |

T2 1 e fed =1 ® € 59 H | verm i1 SifeRer (A) 3R T FeH FI deh (R) HE T
PUHRA (A) :  TH Il § Hifefeaek Hfaal 1 forehr gat|

q&h (R) : 39 UG ! Y Tl UH T § weEe ot |

T <M FeAl % wed | srifafed § 9 9d S| 1 w9 Hife

(A) (A) 9 T T (R) TTerd T

(B) (R) Wdl & T (A) o < |

() (A) 3R (R) I Terd 1

(D) (A) 3R (R) <1 W&t § |

= 1 e fed <1 w® ¥ 59 H 9 v i S1fueRe (A) TR TE HUA FI deh (R) FHE T

AfmeT (A) . Truefiia Fud ST IRa W wai= AfSR w@nfd e & fag T TsHifas
T ol

Th (R): I A o |

STH HA o de H ALfAfad § 9 Fel IW| 1 997 HiC

(A) (A) T& § W (R) ToTd B |

(B) (A) e € W (R) T T

(C) (A) 3R (R) SHI T €1

(D) (A) 3R (R) <1 @& 71
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16.

17.

18.

19.

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R):

Assertion (A) : Iltutmish was not a usurper.
Reason (R) : There was nothing to be usurped.
In the context of the above two statements, which of the following is correct ?

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B)  Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A)is true, but (R) is false
(D) (A) is false, but (R) is true

The post of Diwan-i-Mustkharaj was created by which of the following Sultans ?
(A) Alauddin Khalji

(B) Ghiyasuddin Balban
(C) Razia
(D) Ibrahim Lodi

‘Pushti Marg” was founded by :
A) Chaitanya
B) Vallabhacharya
) Ramanand
D) Nimabark

Match List-I of rulers with List-II of travellers and choose your answer from the code
below :

List-I (Rulers) List-II (Travellers )
(a) Devaraya I (i) Domingo Paes
(b) Devaraya II (i) Abdul Razak
(c) Krishna Devaraya (iii) Nichlo - De - Conti
(d) Achyuta Devarayalu (iv) Ferno Nuniz
Code
(@ @) (© @
(A) @) (@) @ ()
(B) @) (v) @) ()
© @) @@ G ()
(D) @) () @) ()

J—0609 10



16. < < R 53 T § 1 TH I RAT (A) FHEl TN € T T H] THIROT (R) FeT T 2 |
A (A) : ST THETEH Wl STAMYHR TS0 A ATl T o |
THIOT (R) : &l W FS ot ST 1 & o1
ST THeAl & gy § f=fafad § e 98t €2
(A) (A) 3R (R) S &I € TA1 (A) 1 W& AT (R) T
(B) (A) Tl (R) B WEl § T (A) ! Wl =&AT (R) &l
(C) (A) T %, fog (R) TTeTd T
(D) (A) TTerd &, T (R) W 1

17. SEH-ES ®1 1 f § 9 e goar 7 aey fean?
(A) AR faest (B) TREIREN dcted
(C) s (D) gsliied el

18. ¥ AR o1 gfadiee o :
(A) (B) TN (Q) THA=< (D) fr=ameh

19. Tkl 1 eIl | Gafera SIS R = fd T8 e | o797 W A1 =F97 Hi

Geit-1 (9T ) Geit-11 (3Tt )
(a) <A I () <SS
(b) SR I (i) 3T THH
(c) FH A (iii) fTeRICH-g-i=t
(d) ST SEE (iv) A T
&

(@ B () @
(A) (D) @) @) (@)
(B) () (v) (i) (D)
© i) @ @) @)
(D) @) @) () (@)
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20.

21.

22.

23.

Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R) :

Assertion (A) : Mughals failed to reconstitute the agrarain system of Western Deccan.

Reason (R) : Decades of Mughal campaign on Ahmadnagar, Khandesh and
Bijapur weakened their authority on Western Deccan.

In the context of the above two statements which one of the following is correct ?
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(C) (A)is true, but (R) is false

(D) (R)is true, but (A) is false

In 1595 - 96 the Mughal Mansabdars were classified into :
(A) 6 groups (B) 5 groups (C) 4 groups (D) 3 groups

Match List-I with List-Il and choose your answer from the code below :

List-1 (Battles) List-II (Year of the Battles)
(a) Battle of Rajmahal (i) 1527 A.D.
(b) Second Battle of Panipat (i) 1529 A.D.
(c) Battle of Khanwa (iii) 1556 A.D.
(d) Battle of Ghagara (iv) 1576 A.D.
Code :
(@ @) (o @)
@A) (@) @) O @
® () (O @ ()
© (@) (v 0 )
D) (v) @) 0 ()
Match List-I with List-Il and choose your answer from the code below :
List-I (writter) List-II (works )
(a) Nizamuddin Ahmad (i) Humayun Nama
(b) Ali Muhammad Khan (i) Mirat - i -Ahmadi
(c) Gul Badan Begam (iii) Tabgat - i- Akbari
(d) Ibn Batuta (iv) Rahela
Code :
(@ b (o (@
(A) @) @) @ (1v)
B) (@(v) @) @) (i)
© @ (Gv) (D) (i)
(D) @) (@) Gv) ()

J—0609 12



20. I o6 fed T ¥ 1 U Rl R (A) HET T SR TE I HRT (R) |
HAT (A) : TS U= IR i i Haeen &1  Fifed w1 H Thal T8l g |

THIUT (R) : STRHSTR, @MY 3R ISR o Jiel ANTAE! A qfaHt ok ht et 9l &l

FHESIR A fear|
(A) (A) W (R) SHi &t €, 3R (R), (A) Ht T =AW T
(B) (A) T¥ (R) TFI WEl ¥, W (R), (A) I Hel AT 7 7 |
(C) (A) 5@ &, Wl (R) Terd € |
(D) (R) & T, Wfh (A) 7T B

21. 1595 - 96 H Yol HAHEGRI ol aFiiehtul foha il # foharm T e ?
(A) 6 (B) 5 (C 4 (D) 3

22. eI i -1l § GHfAq T 3R T o T3 Fe 9 797 W A1 F97 S |

gl (JF) eIl (g &7 a9 )
(a) TSR A1 IS () 1527 %.
(b) Urtad w1 fgdta Ig (i) 1529 =.
(c) @Ml H g (i) 1556 %.
(d) RIS (iv) 1576 %.
¢

(@ (b)) (© (@)
(A) () (@) @ ()
(B) (v) (@) () (i)
Q) () @v) @) ()
(D) (v) @) @) (i)

23.  gEl & eIl 9 gafad S

el (AEw ) geft-11 ( FHiaar)
(a) FromaE stene () gHEAm
(b) Tl Hewe @i (i) o s
(c) TTeed S (i) deehTd 3TRa
(d) zeTaddr (iv) Een
g

@ b () @
(A) (D) () @ (@Qv)
B) (@v) () @) (i)
© @ (v) (@) (i)
(D) (i) (@) (v) @)

J—0609 13
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24.

25.

26.

27.

28.

Who was the ruler of Mewar at the time of Akbar’s attack on Chittor in 1567-1568

select the correct answer from the code given below :
List-II

i)  Tughlaq Dynasty

ii) Twilight of the Delhi Sultanate

iii) Some Aspects of Muslim Administration

iv) History of Qarauna Turks

Main export commodity of Vijayanagar Kingdom was....

AD.?
(A) Rana Sanga
(B) Rana Udai Singh
(C) Maharana Pratap
(D) Rana Amar Singh
Match List-I with List-II and

List-1
(a) R.P. Tripathi
(b) Ishwari Prasad
(c) KS. Lal
(d) Agha Mehdi Husain
Code :

(@ B (© (@
(A) () (@v) @) @)
B @ @ @) ()
© (@v) G @ (i)
(D) @ @) @) @)
(A) Black pepper
(B) Textiles
(C) Salt
(D) Silk

What is the correct chronological sequence of the following Peshwas ?

The south Indian city famous for Inlay work during medieval period was :

(i) Bajirao I

(ii) Balaji Vishwanath
(iii) Balaji Bajirao

(iv) Madhavarao
Code :

@) () () (@
® (v (@) O )
© () O @) @)
D) @) (v O ()
(A) Tanjore

(B) Bidar

(C) Bijapur

(D) Hampi

J—0609
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24. 3THR F 1567-1568 3 T Toxiig HHU & THY HATS 1 WHSF ST o1 ?
(A) oM (B) UM ISAFHE

(C) HERIUN TdTd (D) O AERFHE

25. @E-l & eIl § gafad ST iR Ao o T fe 9§ 98 ST H 9o R

eI G-I
(a) L. et (i) TR SR
(b) YA YER (i) <AEe ifF T fooet wead
(c) h.TH. (il) TH THFRY F Rem TeSHAEH
(d) T U gEA (iv) feedt i ST =
&
(@ b (© (@
(A) () @v) @) @)
B) G) @@ @) (v
Q) (v) (@) @ (i)
D) @ (@) @) (G

26. TosTR =1 9 faid &t S arel g1 a5 of...
(A) et fid (B) Hus
() THS (D) ®M

27. Tt Uorensti 1 WE wIGTHT 1 ?

() SSIRE I

(i)  STeArSit forgerTe

(i) TSI TSRS

(iv) wIged

&< :

(A) @ (@) @) o (0v)
(B) (v) () (@ (i)
© @) @@ @) (Gv)
(D) @) @Gv) @ (i)

28. TfRIUT YRA T DA W TR AR § 4T SIS el o faIT Jfag o1 ?
(A) TSR (B) dflaX (C) ISR (D) ®f
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29.

30.

31.

32.

33.

What was the sequence of the establishment of factories in India by the following
European powers ? Choose your answer from the code given below :

(i) English
(i) French
(iii) Dutch

(iv) Portuguese

Code :

(A) (v) () (@) (i)
®) @ (@) G (@)
© @@ @v) @ (i)
(D) @) @)  (v) (i)

‘Nishan’ documents are defined as :

(A) Letters written in the name of Mughal princes
(B) Letters written in the name of Mughal Emperor
(C) Letters sent by the Mughal officials

(D) Letters sent by the ruler to another ruler

The Ryotwari settlement was made with the :
(A) Zamindars

(B) Cultivators

(C) Village communities

(D) Mugaddams

Who remarked in 1834 that “The bones of the cotton weavers are bleaching the plains
of India” ?

(A) Lord Macaulay

(B) Lord William Bentinck
(C) Dadabhai Naoroji
(D) Raja Ram Mohan Ray

The highest British Capital Investment in India was made in the :

(A) Tea, Coffee and the Indigo Plantation.

(B) Railways, Banking, Insurance and Shipping
(C) Cotton Textile Industry.
(D) Jute Mills.
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29.

30.

31.

32.

33.

Tord shTeTsh o STTER fifohd JUdr Sfwal 3 WRd | 79 S g wofud ford 2 =
Te& T3 %2 9§ T IW T = HITST ?

(i) e

(ii) RIETE

(i) ==

(iv) et

< :

(A) (v) @) @ 3

B) (@) @) @G) (iv)

Q) @) (@v) @ (i)

(D) @) @ (Gv) (i)

e’ <EaraSt bt gRefya feRen e ¥

(A) TS YMESTIE] o MW 9 A T3 95 |
(B) T WY o H § A T A |
(C) e YRRl g1 Ot T U |
(D) Teh WTEh g GO WMHE 1 Al T4 T |

HAAATS d<ra foRdeh ary fohan T o ?
(A) SRS (B) foraml (C) u™ wH™ (D) Hewedt

1834 H forgm gegwe foren fo ¢ et o5 et 1 =figal WA o ol 1 faifsa s @ €72
(A) e Fahr (B) e faferam af<a
(C) TTRTHE ARSi (D) T TH Higd T

gRa H forfesr It 1 3=ram o foram o -
A) T, HR R A T et H

B) Yad, Sfch, ST IR SRSRH! §

C) hUSI STRH

(
(
(
(D) e fedt &
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34.

35.

36.

37.

38.

39.

Who was the first to formulate theory of three successive phases of British Colonialism
in India namely, Mercantilist, Free Trade, Mercantile Capitalism and Finance
Imperialism ?

(A) Dadabhai Naoroji

(B) R.C. Dutt
(C©) R.P. Dutt
(D) Karl Marx

In 1920 the All India Trade Union Congress was organized by :
(A) B.P. Wadia

(B) Mahatma Gandhi

(C©) N.M. Joshi

(D) Jawaharlal Nehru

Who was the greatest Parsi Social Reformer of the 19th century ?
(A) Jamsetji Tata

(B) Rustom Behramji

(C) Behramji M. Malabari

(D) Pheroz Shah Mehta

Which modern historian opined that the “so called first national war of independence
was neither first, nor national, nor a war of independence” ?

(A) S.N. Sen

(B) Tarachand

(C) R.C Majumdar
(D) K.K. Dutta

Who gave the call - “One religion, one caste and one God for mankind” ?
(A) Jyotiba Phule

(B) Swami Vivekanand
(©

(D)

Shri Narayana Guru

Periyar Ramaswami Naikar

Who was a bitter critic of Sir Syed Ahmad Khan's ideas and the Aligarh movement ?
(A) Chiragh Ali

(B) Altaf Hussain Hali

(C) Nazir Ahmad

(D) Jamaluddin Afghani
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34.

35.

36.

37.

38.

39.

T wageW Yag A7d = fha T v o fofest sufrewene & 9 stead sruid
FAfIaTE, A= AR 3R 1o gsiarg iR fod gmmswerg o ?

(A) TTRTE ARSI (B) . T
(C) &R, <T@ (D) et T

T 1920 H 31 sfUear ¢ I i i difed foham o -
(A) Sitdrarean (B)  HETCHT Tiedt
(C) TATH. Sireht (D) STeTETd 8&

19 off ITATEET 1 Y@ WIS R i o 7
(A) STETST el (B) ®&H SEUHSI
(C) IEIHSH TH, HIeTeRy (D) RIS ¥ el

o emyfes iR A fomm = foran T ¢ qen i gem T Torde=rdi =61 g5 7 d 9o,
T P IR A A Ead w1 g o'’ ?

(A) TET. 94 (B) dN==
(C) SHI. HSHSR (D) .. Sl

T st e T ¢ ueh o, T Sfa @Ik Tk $9eR A ot & o g ey 2
(A)  Sfde Fel (B) w@rH forerepr<
(Q) &t A= & (D) URAR THrEr TRt

W =2 27ede WH & faami iR e1elig M=o ol =X 3Tiei=ish hiq o1 ?
(A) o sreft

(B) TcdT® gHA BTei!

(C) TSI 378Hg

(D) ST SEA A
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40.

41.

42.

43.

44.

45.

46.

The two greatest pioneers in the cause of widow’s education were :
(A) D.K. Karve and Pandita Ramabai

(B) M.G. Ranade and R.G. Bhandarkar

(C) Ishwar Chandra Vidya Sagar and Keshav Chandrasen

(D) B.M. Malabari and K. Sridharlu Naidu

Who argued that the Khilafat Movement was a result of the emergence of a ‘middle
class’” among Indian Muslims ?

(A) Francis Robinson
(B) W.C. Smith

(C) Mushirul Hasan
(D) Mohd. Mujeeb

In the Ahemdabad Mill strike of 1917 Mahatma Gandhi’s intervention resulted in the
enhancement of wages for the workers by :

(A) 25% (B) 35% (C) 45% (D) 55%

Chittagong Armoury Raid was Organized under the leadership of :
(A) Jatin Das

(B) Surya Sen

(C) Ganesh Ghosh

(D) Khudiram Bose

Who was the first President of the Harijan Sevak Sangha founded by Mahatma Gandhi?
(A) G.D. Birla

(B) Mahadev Desai

(C) Amritlal Thakkar

(D) Dr. B.R. Ambedkar

Who amongst the following was chosen as Dewan of three princely states - Mysore,
Jaipur and Hyderabad ?

(A) M. Vishweshraya

(B) C.P. Ramaswami lyer
(C) V.P. Madhava Rao
(D) Mirza Ismail

Adyar was the famous centre and headquarter of the :
(A) Aurobindo Ashram
B) Madras Mahajan Sabha
) Theosophical Society
D) Ramakrishna Mission
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40.

41.

42.

43.

44.

45.

46.

fargranati =t foren o R | <1 9@ <N A ARTEH o
(A) B, *d iR dfed wenE

(B) TH.SH. TS iR SRS, Herax

(C) Tvaa= foamamr 3R Fea aw=aa

(D) f.uH. AreeRt 3R %, diete TEg

forgeR! T & T faaha oTie AR Gl H T ‘7ed o’ o 3q9d o1 TR o1 ?

(A)  WIFEE qfe= (B) e, feme

(C) TiEa g&A (D) HEWIS HSirdl

1917 i TEHSEE e gl § Heredr Mt & gLaad & uRummeey gfael % dad #
Th &1 gfg o TS|

(A) 25% (B) 35% (C) 45% (D) 55%

Toreri TR W gHen fohder Agc § Hifad gat o1 ?
(A) SIfdA T (B) I & (C) T =Y (D) Wer™ 9|

TRTeHT e gR1 Tnfya eRe das 9 % guq YHeue Hhiv o ?
(A) ShEl. foren (B) TRIE <HTE
(C) T SRt (D) S 3R, ST

frefafed § 9 fra dF <of famed - 35, SEqR IR REre o1 e g1 741 o1 ?

(A) A fagerermn (B) #.UI. AR =R
(C) . HrEe T (D) fHS seEA

IR H e = 3R Jered o

(A) 3rfa< sgH (B) HETH HeTSH |l

(C) TrarEifrRa S (D) T e
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47. Who called commerce is a perpetual war of wit and energy among all nations ?
(A) Jean Bodin

B) Jean Baptist Colbert

Thomas Mun

Thomas Hobbes

48. Whiteman’s burden was theory of :
(A) Humanism

(B) Imperialism

(C

(D

) Non-alignment
) Socialism
49. Who amongst the following belongs to the sub - altern school of historiography ?
(A) Bipan Chandra
(B) Romila Thapar
(C) Ranjit Guha
(D) Ramchandra Guha

50. Who was universally acclaimed as the Prince of the Humanists ?
(A) Erasmus

(B) John Colet

(C

(D

) Thomas More
)

Francisco Petrarch

-00o0-
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47.

48.

49.

50.

forem et T anfors T T4 & A If AT Ue 391 i U Had H@EY 2

(A) st (B) I SUfee HITeeR
(C) = T\ (D) <T9H Eisd
RTEHT 1 IR fagr o

(A) HFEETE (B) WHRHAR

(C) Te-Trusan (D) HHNER

frafafaa § @S9 gaeTer sfaem oed § Tefd § 2
(A)  fag= ==1 (B) f¥et AR
(C) USd = (D) TH= T&T

ol Aaafedl s FeldT=1 USTHHR Teiishd feharm T o1 ?

(A) EEg (B) WM ®Icle
(C) T¥E HR (D) THi-age! Uik
-00o0-
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